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Serially Correlated Errors Homework

Answer Key Part 2

Theory

Consider the very simple dynamic autoregressive distributed lag (ARDL) model describing the behavior of y in terms of x expressed as follows:

[image: image1]                                   (T.1) 

Where the error, ut, is iid N(0,σ2). When the model is in long run equilibrium it must be the case that

[image: image2]
With the consequence that
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1. What is the short run effect on y of a one unit change in x? [image: image5.png]



2. What is the long run, equilibrium relationship between y and x?
[image: image6.png]



3. What is the long run effect on y of a one unit change in x?
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4.  Is there serial correlation in the error structure of (T.1). If so, write it out.
By recursive substitution we get [image: image9.png]y,=m+u +tau,_, +au,_,



.  The error portion is clearly correlated with its own lag.
5. If your answer to the previous question was yes, then derive the error covariance matrix.
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